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ooood
10000
1-1 0000
uooo H=3.000m
1-2 000000
000000000000000 vye = 24.50 KN/
0(@O0)000000000000 ys = 18.60 kN/mf

0(@O0)000000000000 ye = 19.60 kN/mf
0000000000000000 vy« = 9.80 kN/mf

1-3 00
uboobodoooobdaod O« = 24.00 N/mm
0000oo0o0o0ooooo0no B = 2.50 x 10° N/mw
gooood ao Kn = 0.20
gooood ao Kn® = 0.00
goooodo @ = 30.00°
gbooobodoooooobdaod Ko = 0.50

1-4 00000

goan oo oo oo aoo

gooooooan 0 sa N/mm? 160.0 300.0
goooooooooobogoo O ca N/mm? 8.0 12.0
gbooooobooooooan Ta N/mm? 0.39 0.58

ubooobodoooodood Odn O=15

1-5 000

0000000000000000 g U= 3.43 kN/m?
00000000000000 OOg O=  3.43 kN/m?
o0000000O000000 00X O= 0.000 m
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2-1 000000
]
O a0 ]
0 0
vV
0
2-2 00000
2-2-1 00000
0ooo x 00 y OO
(m) (m)
A 0.000 2.750
B 0.000 0.000
c 3.400 0.000
D 3.400 2.750
2-3 00000
0ooo 00O 0020
0ooo
00 00 (™) 00000 @)
1 B A 0.400 0.00533
2 B c 0.500 0.01042
3 c D 0.400 0.00533




300oboooo

ooooobooobooboood oo = 0.0°
O000000o000oooOoOn ys = 18.60 kN/m?
obooooboobooooboono ¢ 0= 30.0°
oooooooooooooooo g o= o000
0ooooooooooooo0 oos 0= 1000
ooooooooooooooo o8 o= o000

ooooooooooog 0 O= tan'OKn = 11.310 °
ooooooooooog 0" = tan'OK:" = 0.000 °
oo
2
K = cos’(p -a )

sin(o +d )sin(o -B ) ,
cos(a +d )cos(a -B ) 1

cos’a cos(a +d )[1+

= 0.308

@Oooo

2
Ky = cos’(p -6 -a)

sin(o +6 )sin(p -3 -6)
cos(a +0 +6 )cos(a -B )

cosO cos’a cos(a +6 +d )[1+

= 0.473
0000(-B-6)<0000sin(e-p-6)=0000

2 -
Ko™ = cos’(p -0 "-a)

sin(p +6 )sin(ep B -6 )
cos(a +0 "+6 )cos(a -B )

cos® "cosa cos(a +0 "+0 )[1+

= 0.333
0000(@-B-6")<0000sin(@-p-6") =0000



4 000000d4d

4-1 000oooodo

LoD

000000 (COOO0)

uooobdOH:
UbooobdOHs

= 2.750 (m)
= 0.500 (m)

0ooo
0000000q = KOq = 0.50x 3.43
0000000 = 1.72 kN/i?
0000000¢ = KOOy = 0.50x 0.000x 18.60
0000000 = 0.00 kN/i?
0000000¢ = KOOy s = 0.50x 0.500x 18.60
0000000 = 4.65 kN/i?
0000000 =KO® ¢ -y WO (H - H)
0000000 = 0.50x (19.60 - 9.80)x (2.750 - 0.500)
0000000 = 11.03 kN/m?
0Doooo
00000006 =y 0 (H - H) = 9.80x (2.750 - 0.500)
0000000 = 22.05 kN/m?
0
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oooooo
O0000000aqe = KOgdcosd
0000000 = KOHOYy s0cosd
0000000 = KOHOYy s0cosd
O000000ge = KOy « - Yy wO (H - H)O cosd

0000000000000000000
e = g + (G - G

0ooo
K : 000000
ge : 000000000 (KNP
5 : 00000 C)
e : 000000000 (KNP
@ : 00000000 (KV/m)
e : 00000000000000000000 (K1)
¢ : 0000000000000000000 (KV/m)

000000@Oooon)

0000  H = 2.750 (m)
0000  H = 3.000 ()
0ooo
0D0o00o0o 00000000 0D0oo0o0o0o 0DO0o00o0o
(KN/12) (KN/12) (KN/12) (KN/12)
00000 qe 1.72 1.62 1.04 2.30
0000 o 0.00 0.00 0.00 0.00
0000 e 27.90 26.39 16.93 37.36
000000 e 0.00 0.00 0.00 0.00
0Doooo
00000006 =y 0 (H - H) = 9.80x (2.750 - 3.000)
0000000 = 0.00 kN/i?

4-2 000000000

0000000 P = tOHOy < = 0.400x 2.750x 24.50

0000000  =26.95 kW@ ODO)
0000000 W =20P /L = 2x 26.95 / 3.400
0000000 = 15.85 k\/i?
0000000 P =y WJH = 9.80x 2.500
0000000 = 24.50 kN/i?

o0o00o000 RS =y .WOH = 9.80x 0.000
goooodo = 0.00 kN/m*




4-3 0000

LoD
a.0000000

0.00 0.00
9.31
-48.99 T -48.99
-48.99 -48.99
b.0DODOO
0.00 0.00
33.78 68 .60 -33.78
40.35
53.57 -53.57
-68.59
c.un
0.00 0.00
-26.95 -26.95
-53.57 -53.57
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a.0000000

-55.79

-55.79

-55.79

b.0DODOO

37.62

57.70

-32.88

26 .95

1585

-55.79

-37 .62

-57.69

-26.94

c.un

-26.95

-57.69
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5-1 00
5-1-1 000
(OOOO0 0OOo
000 D22 ctc 250 000000

gboooodobgoodM
oooooooobooos = 53

48990000 NOmm

570 N

Oooooooooooob = 1000 mm
gboooodobdagoodnp = 400 mm
Ooooooooooofdt= 120 mm
ooooooooooodd = 280 mm
uboooodobdgoodas = 1548.4 mw*

gboooodobooooobogoooanx =

127.1 N/mm?
4.2 N/mm?

Os
Oc

T =S/ (bOd) = 53570 / (1000x 280) = 0.19 N/m?

93 mm

0o 00 | oooo Ooooo | 0o
ODoooooo N/me | 127.1 160.0 0K
0000000000000 | N/m? 4.2 8.0 0K
000000000000 N/mn? 0.19 0.39 0K

(000 0000000
000000000 0.310m
000 D22 ctc 250 DO0O0OO0
00000000000sS = 33780 N
00000000000b = 1000 mm
00000000000D = 400
000000000004 = 120 mm
00000000000d = 280 mn
T =S/ (bOd) = 33780 / (1000x 280) = 0.12 N/m?

0o 00 | oooo Ooooo | 0o
000000000000 N/mn? 0.12 0.39 0K




5-1-2 00O
(LOO 0(@)oO

000 D25 ctc 250 OO OOOO

ooooooooooom = 48990
oooooooobooos = 68
Oooooooooooob = 1
gboooodobdagoodnp =
Ooooooooooofdt=
ooooooooooodd =
uboooodobdgoodas = 202

gboooodobooooobogoooanx =

Os = 77.9 N/mm?
oc = 2.7 N/mm

T =S/ (bOd) = 68600 / (1000x 350) = 0.20 N/m?

000 NCmm
600 N
000 mm
500 mm
150 mm
350 mm
6.8 mm?

119 mm

00 00 | ooOoo 00000 | 0o
0D0o00o0o N/mn? 77.9 160.0 0K
0000000000000 | Nme 2.7 8.0 0K
000000000000 N/mn? 0.20 0.39 0K

(@ 00 0@) 0000o0oo
000000000 0.500 m
000 D25 ctc 250 000000
00000000000S = 40350 N
00000000000b = 1000 mm
00000000000D = 500 mm
00000000000d" = 150 mn
00000000000d = 350 mm
T =S/ (bOd) = 40350 / (1000x 350) = 0.12 N/mn?

00 00 | oooo 00000 | 0O
000000000000 N/mn? 0.12 0.39 0K
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000 D16 ctc 250 OO OOOO

gboooodobgoodM

9310000 NCmm

0o000o00o0o0oodb = 1000 mm
gooooooooodnp = 500 mm
0o000o0o0o0oooodds= 120 mm
0o000o0o0o0ooodd = 380 mm
gooooooooddAs = 794.4 mn?
gooooboooooooooooox = 84 mm
0 s = 33.3 N/mm?
oc = 0.6 N/mm
oo oo gooo goooo oo
goooooo N/mm? 33.3 160.0 oK
goooooooooooo N/mm? 0.6 8.0 oK




5-2 000
5-2-1 000
(OOOO0 0OOo

000 D22 ctc 250 OO OOOO

gbooooobgoodM 55790000 NOmm

oooooooobooos = 57700 N
Oooooooooooob = 1000 mm
gboooodobdagoodnp = 400 mm
Ooooooooooofdt= 120 mm
ooooooooooodd = 280 mm
uboooodobdgoodas = 1548.4 mw*

gboooodobooooobogoooanx = 93 mm

144.7 N/mm?
4.8 N/mm?

Os
Oc

T =S/ (bOd) = 57700 / (1000x 280) = 0.21 N/m?

0o 00 | oooo Ooooo | 0o
ODoooooo N/mP | 144.7 300.0 0K
0000000000000 | N/m? 4.8 12.0 0K
000000000000 N/m? 0.21 0.58 0K

(000 0000000
000000000 0.310m
000 D22 ctc 250 000000
00000000000sS = 37620 N
00000000000b = 1000
00000000000D = 400
000000000004 = 120 mm
00000000000d = 280 mn
T =S/ (bOd) = 37620 / (1000x 280) = 0.13 N/m?

0o 00 | oooo Ooooo | 0o
000000000000 N/mn? 0.13 0.58 0K




5-2-2 00
() 00 O@)OO

000 D25 ctc 250 OO OOOO

gbooooobdaoodm = 55790
oooooooobooos = 26
Oooooooooooob = 1
gboooodobdagoodnp =
Ooooooooooofdt=
ooooooooooodd =
uboooodobdgoodas = 202

gboooodobooooobogoooanx =

Os = 88.7 N/mm?
o c = 3.0 N/mm?

T =S/ (bOd) = 26950 / (1000x 350) = 0.08 N/mm?

000 NCmm
950 N
000 mm
500 mm
150 mm
350 mm
6.8 mm?

119 mm

00 00 | ooOoo 00000 | 0o
0D0o00o0o N/mn? 88.7 300.0 0K
0000000000000 | Nme 3.0 12.0 0K
000000000000 N/mn? 0.08 0.58 0K

(@ 00 0@) 0000o0oo
000000000 0.500 m
000 D25 ctc 250 000000
00000000000S = 15850 N
00000000000b = 1000 mm
00000000000D = 500 mm
00000000000d" = 150 mn
00000000000d = 350 mm
T =S/ (bOd) = 15850 / (1000x 350) = 0.05 N/mi’

00 00 | oooo 00000 | 0O
000000000000 N/mn? 0.05 0.58 0K




3) 00 OO0

000 D16 ctc 250 OO OOOO

gboooodobgoodM

32880000 NOmm

O000o0o0o0ooodb = 1000 mm
gooooouodoodgb = 500 mm
O0ooooooooodt= 120 mm
00oooooooood = 380 mm
OgooooouododAs = 794.4 mn?
goooodoououooooogx = 84 mm
0s = 117.6 N/mm?
oc = 2.2 N/my
oo oo ooood ooooo oo
ooooooo N/mm2 117.6 300.0 0K
Og0o0oooooooooo N/mm2 2.2 12.0 0K
5-3 00000000004
goooo
oooooao O0o0ooooooodoo o0ooooooo
0oooo 00 M(KNOm) (\N/mm?) (N/mm?) 00
Oc Oca Os O sa
ooo 48.99 4.2 < 8.0 127.1 < 160.0 0K
oo ooood 48.99 2.7< 8.0 77.9 < 160.0 0K
ooood 9.31 0.6 < 8.0 33.3 < 160.0 0K
ooo 55.79 4.8<12.0 1447 < 300.0 0K
ooo ooood 55.79 3.0<12.0 88.7 < 300.0 0K
ooood 32.88 2.2<12.0 117.6 < 300.0 0K
gooood
ooood o0o0oooooooooo
0oooo 00 S(kN) (\N/mm?) 00
T Ta
0o ooo 33.78 0.12 < 0.39 0K
ooood 40.35 0.12 < 0.39 0K
000 ooo 37.62 0.13 < 0.58 0K
ooood 15.85 0.05 < 0.58 0K




6 DOooOoogoo

6-1 00
goao
P = (2.500x 0.400x 2 + 0.500x 3.800)x 24.50
= 95.55 kN/m
gog
U = 2.500x 3.800x 9.80 = 93.10 kN
_ P _ 95.55 _ 4
Fs = U~ 9310 - 1.026 < 3 ouT
6-2 000
goao
P = (2.500x 0.400x 2 + 0.500x 3.800)x 24.50
= 95.55 kN/m
gog

U = 0.000x 3.800x 9.80 = 0.00 kN

F o P _ 95.55 > 4

U~ 0.00 OK



